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WRITING EQUATIONS Write an equation of the line in slope-intercept form. WRITING EQUATIONS Write an equation of the line that passes through the

12. The slope is 3; the y-intercept is —2.  13. The slope is 1; the y-intercept is 2. point and has the given slope. Write the equation in slope-intercept form.
14. The slope is 0: the y-intercept is 4. 15. The slope is 2; the y-intercept is — 1. 12.(1,4),m =3 13.(2, -3),m=2 14.(-4,2),m= —1
. 1,=3),m= -4 16. (=3, =5),m = =2 17.(1,3),m=4
16. The slope & |s 53 the y-intercept is 3. @Thc slope is —%: the y-interceptis 1. @ " ( b m ( "
s 1 .(z. Shm=1 19.(-3.2)m =1 20.(0.2).m =3
18. The slope is —6: the y-intercept is e 19. The slope is —3: the y-intercept is -3 - )

WRITING EQuATIONS Write an equation in standard form of the line that

GRAPHICAL REASONING Write an equation of the line shown in the graph. passes through the given point and has the given slope.
20. y @ @—x. Nm=2 3. (=27 m=—-4  36.(-L,4m=—3
36. (=6, =7).m=—1 37.(3,-2,m=35 38.(10,6),m =7
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